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GS-440

II Semester B.Com Examination, May/June - 2019
COMMERCE '

2.6 Quantitative Analysis for Business Decisions - I
(CBCS) (F+R) (2014-15 & Onwards)

Time : 3 Hours Max. Marks : 70

Instructions : Answers should be either in English or Kannada.
oeori-o/SECTION - A
ge 2ereridor YN odremhwende awh o BB v 30D B YU FBJT F0H
03I,

Answer any five sub-questions from this section. Each sub-question carries
two marks. '

1. (a) moaaa?gaamci cdnghwerdh avd) Fooderigdy, Su¥d. . 5x2=10
Mention any two functions of statistics.
(b) esohBesg owBesd ?
What is a Histogram ?

(c) M=42,Z=40, 833, Xrhcasd.

If M=42, and Z=40, find X.
(d) ®obh3 HesRabR, DYTYRAD.
Define Standard Deviation.
(e) =RgH0dR, vOW SRoINFTD Herd ?
How do you Calculate Range ?
., Ho°CTS VY W3R D0 OF BewedNa 2
Why Fisher’s Formula of Index Number is called ideal ?
(g) wowdss Foakod adrRehwerEc Hlw) gumodeeriridesd ?
Mention any two uses of Index Numbers.

aegeri-ea/SECTION - B

Se FEAS odreaymeEce Teey P rerd eu3dd. B FIri ed worith. 3x6=18

Answer any three of the following questions. Each question carries six marks.
2. e YN F0& 303008 JToRD Desododa, abtjéﬁd RDReT TO LBHODD.

x: 4 6 8 10 12 14 16

f 10 13 22 24 15 12 9

Compute Mean Deviation from median.

x: 4 6 8 10 12 14 16

f: 10 13 22 24 15 12- 9

P.T.O.
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3. @3prd a8os H3) 033 sBrHEFER), FOREBONO.

(2oL gtz : 0-10 10-20 20-30 30-40 40-50
:‘Dm?g@[-:'ﬁg 3093‘8 : 5 10 15 10 5
Compute Quartile Deviation and its Co-efficient.

Marks o B 0-10 10-20 20-30 30-40 40-50
No.of students : 5 10 15 10 S

4. 206 IriCE Berd VeFodby Fo 0B BIVY B BT LT WRTE 2rINT
S0rish FYBOBOS :
BoDRA : S0%
&gaddd : 50%
wey) 3,3 B8P LHu3tde BB : 30%
33 B3F &dde 7o St : 18%

- In a sample study about the reading habit of Newspaper of people in a city,
the following information was received. ‘
Present the data in a tabular form.

50% were male

50% were female _
30% were no habit of reading newspaper

18% were male non-reader of newspaper

5. weads P Reesyosany, s 9NT Begosrivod Bo@ HB0DO.

N
3% Tl 324 50
eE3 310 10
ejeso 220 08
230803 150 12
3338 dwrid 300 20

Calculate cost of living index from the following data.

Items Index = Weight

Food 324 50 ;
Clothing 310 10 .
Lighting 220 08

Rent 150 12

- Miscellaneous 300 20
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10.

903 deeodrivod mﬁ;@ﬁaﬂa&) HoBNRYRNT TIH0TE BoRI&HRBODD.
woBrd . 20 30 40 50 60 70 80 90

&m5@9d§ doad: 40 50 70 90 8 91 89 65
Compute mode by using grouping table from the following data :
Marks ; 20 30 40 50 60 70 80 90
No.of students : 40 OS50 70 90 85 91 89 65

deyeri-& /SECTION - C
Se F¥3008 odngwedde Sued FB ! e3bs. I8 FF I Bomeey wosri.  3x14=42

Answer any three questions. Each question carries fourteen marks.
Se 3YNR Gep08rivor ©osrids Foerd, Bipegos, BLBNYR, BOBSGBAS.

ol o3 : 10 15 20 25 30 35 40 45
DV : 10 25 40 30 25 17 8 5
Calculate Mean, Median and Mode from the following data.
Central size : 10 15 20 25 30 35 40 45
Frequency : 10 25 40 50 25 17 8 )

ge IO a:’iegobg DB Ioridnriee éaieg wodny %déodoa‘b& zert rhdbaxbded.

woBsNd  : 20-30 30-40 40-50 50-60 60-70
30ri8-a s 10 20 18 7
30ri8—29 5 9 21 15 6

Find which of the following two classes is more consistent in scoring marks
from the following table.

Marks : 20-30 30-40 40-50 50-60 60-70
Class A 7 10 20 18 7
Class B 5 9 21 15 6

Be FENT BB03rwor HoLTTIT dRDIabH RBrHeosn, 0@ GB000.

Sadb) E 0-10 10-20  20-30 30-40 40-50 50-60 60-70
sgdod 50335 : 5 10 18 12 10 - 5 5
Compute the Pearson’s coefficent of Skewness from the following :

Age - 0-10 10-20  20-30 30-40 40-50 50-60 60-70
No. of Persons : 5 10 18 12 10 5 2

839,07, CaiSabal), &red aEesa, hded.

2Je33 : 0-2 2-4 4-10 10-20 20-30 30-40 40-60 60-70
Cixavseﬁri'é oﬁ,g : 2 6 8 25 40 30 20 8
Draw a Histogram from the following data and hence locate the mode."
Wages : 0-2 2-4 4-10 10-20 20-30 30-40 40-60 60-70.
No.of Workers : 2 6 8 25 40 30 20 8

P.T.O.
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11. e d¥soa B2g08rvor dRCTHI Clataly Rlpesasodain FOB&A)
& TRT @) FRT riga) STBOIB vo BIBLO
A 10 50 12 60
B 12 25 15 20
C 18 10 20 12
D 20 5 40 2
E 22 8 45 S
Calculate Fisher’s Ideai Index Number from the data
that it Satisfies The Time Reversal Test and Factor

2016 2018

Commod.ity Price Quantity Price Quantity
A 10 50 12 60
B 12 25 15 20
C 18 10 20 12
D 20 5 40 2
E 22 8 45 5
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